

examples given are graphs with loops. We have tried to include several typical cases of one or more loops in conjunction with nonloop edges.

References

1. Oystein Ore, Theory of Graphs, Amer. Math. Soc. Colloq. Publ., 38, 1962.
2. V. Menon, The isomorphism between graphs and their adjoint graphs, Canad. Math. Bull., 8 (1965) 7-15.
3. B. L. Schwartz, On interchange graphs, Pacific J. Math., 27(1968) 393-396.
4. V. Menon, On repeated interchange graphs, Amer. Math. Monthly, 13 (1966) 986-989.
5. L. Muracchini and A. Ghirlanda, Sul grafo commutato e sul grafo opposto di un grafo orientato, Atti. Sem. Mat. Fis. Univ. Modena, 14 (1965) 87-97.

NOTE ON A NONLINEAR RECURRENCE RELATED TO $\sqrt{2}$

R. L. GRAHAM and H. O. POLLAK, Bell Telephone Laboratories

In a recent study of sorting algorithms for a partially-sorted set, F. K. Hwang and S. Lin [2] introduced the following sequence:

$$a_1 = 1, \quad a_{n+1} = \left[\sqrt{2a_n(a_n + 1)} \right], \quad n \geq 1,$$

where $[\cdot]$ denotes the greatest integer function. Thus, the sequence begins

| | | | | | | | | | | | | | | |
|-------|---|---|---|---|---|---|----|----|----|----|----|----|-----|-------|
| n | 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8 | 9 | 10 | 11 | 12 | 13 | |
| a_n | 1 | 2 | 3 | 4 | 6 | 9 | 13 | 19 | 27 | 38 | 54 | 77 | 109 | |

One notes that $a_{2n+1} - a_{2n} = 2^{n-1}$ for $1 \leq n \leq 6$ and it might be conjectured that this holds in general.

In this note we investigate the sequence $\{a_n\}$. We obtain an explicit expression for a_n from which the conjecture follows as well as the following curious result: $a_{2n+1} - 2a_{2n-1}$ is just the n th digit in the binary expansion of $\sqrt{2}$.

We begin by making the preliminary observation that if $S(\alpha)$ denotes the set of integers $\{[\alpha], [2\alpha], [3\alpha], \dots\}$ then every positive integer occurs in exactly one of the two sets $S(1+1/\sqrt{2})$ and $S(1+\sqrt{2})$. This follows from well-known results for $S(\alpha)$ (cf. [1]) together with the fact that $(1+1/\sqrt{2})^{-1} + (1+\sqrt{2})^{-1} = 1$ and $1+\sqrt{2}$ is irrational. Thus, for any positive integer m there exists a unique integer t such that either $m = [t(1+1/\sqrt{2})]$ or $m = [t(1+\sqrt{2})]$.

THEOREM. *Let $a_1 = m$, $a_{n+1} = [\sqrt{2a_n(a_n + 1)}]$, $n \geq 1$. Then*

$$a_n = \begin{cases} [t(2^{(n-1)/2} + 2^{(n-2)/2})] & \text{if } m = \left[t \left(1 + \frac{1}{\sqrt{2}} \right) \right] \\ [t(2^{n/2} + 2^{(n-1)/2})] & \text{if } m = [t(1 + \sqrt{2})]. \end{cases}$$

Proof. First note that since no integral square lies between

$$2t^2 + 2t \quad \text{and} \quad 2t^2 + 2t + \frac{1}{2} = 2\left(t + \frac{1}{2}\right)^2$$

then

$$[\sqrt{2a_n(a_n + 1)}] = [\sqrt{2}(a_n + \frac{1}{2})].$$

Thus we can assume

$$a_{n+1} = [\sqrt{2}(a_n + \frac{1}{2})], \quad n \geq 1.$$

Suppose $x = t(1 + 1/\sqrt{2})$ for some positive integer t . Then

$$(1) \quad [\sqrt{2}([x] + \frac{1}{2})] = [\sqrt{2} x]$$

Proof of (1). Let

$$\beta = \frac{t}{\sqrt{2}} - \left[\frac{t}{\sqrt{2}} \right].$$

Then $x = [x] + \beta$. Also

$$\sqrt{2} x = t(1 + \sqrt{2}), \quad \sqrt{2} t - [\sqrt{2} t] \equiv \beta'$$

and

$$2\beta = \beta' + \alpha_1, \quad \alpha_1 = 0 \text{ or } 1,$$

(i.e., $\beta = \cdot\alpha_1\alpha_2 \cdots \beta' = \cdot\alpha_2\alpha_3 \cdots$ expressed base 2).

$$\begin{aligned} \therefore (1) \text{ iff } [t(\sqrt{2} + 1)] &= \left[\sqrt{2} \left(t \left(1 + \frac{1}{\sqrt{2}} \right) - \beta + \frac{1}{2} \right) \right] \\ \text{iff } t + [t\sqrt{2}] &= \left[t + [t\sqrt{2}] + \beta' - \sqrt{2}\beta + \frac{1}{\sqrt{2}} \right] \\ \text{iff } 0 &= \left[\beta' - \sqrt{2}\beta + \frac{1}{\sqrt{2}} \right] = \left[\beta' - \frac{\sqrt{2}}{2}(\beta' + \alpha_1) + \frac{1}{\sqrt{2}} \right] \\ \text{iff } 0 &= \left[\beta' \left(1 - \frac{1}{\sqrt{2}} \right) + \frac{1}{\sqrt{2}}(1 - \alpha_1) \right]. \end{aligned}$$

The expression inside is ≥ 0 . Also $\beta' < 1$ so that the expression inside is $< 1 - 1/\sqrt{2} + 1/\sqrt{2} \cdot 1 = 1$. $\therefore (1)$ holds.

Next, suppose $x = t(1 + \sqrt{2})$, for some positive integer t . Then

$$(1') \quad [\sqrt{2}([x] + \frac{1}{2})] = [\sqrt{2} x].$$

Proof of (1'). As before, let $\beta' = \sqrt{2} t - [x\sqrt{2}]$. Then $x\sqrt{2} = t(2 + \sqrt{2})$ and $x\sqrt{2} - [x\sqrt{2}] = t\sqrt{2} - [t\sqrt{2}] = \beta'$.

$$\begin{aligned} \therefore (1') \text{ iff } [2t + t\sqrt{2}] &= \left[\sqrt{2} t(1 + \sqrt{2}) - \sqrt{2}\beta + \frac{1}{\sqrt{2}} \right] \\ \text{iff } 2t + [t\sqrt{2}] &= \left[2t + [\sqrt{2} t] + \beta - \sqrt{2}\beta + \frac{1}{\sqrt{2}} \right] \\ \text{iff } 0 &= \left[\beta(1 - \sqrt{2}) + \frac{1}{\sqrt{2}} \right]. \end{aligned}$$

But

$$0 < \frac{2 - \sqrt{2}}{2} = 1 - \sqrt{2} + \frac{1}{\sqrt{2}} < \beta(1 - \sqrt{2}) + \frac{1}{\sqrt{2}} \leq \frac{1}{\sqrt{2}} < 1;$$

∴ (1') holds. Hence,

$$\text{if } m = \left[t \left(1 + \frac{1}{\sqrt{2}} \right) \right] = a_n \text{ then } a_{n+1} = [t(\sqrt{2} + 1)];$$

$$\text{if } m = [t(\sqrt{2} + 1)] = a_n \text{ then } a_{n+1} = \left[2t \left(1 + \frac{1}{\sqrt{2}} \right) \right].$$

A minor induction argument on n now proves the theorem.

We point out that it is possible to express the conclusion of the theorem in a somewhat more concise form:

If $a_1 = m$ and $a_{n+1} = [\sqrt{2a_n(a_n + 1)}]$ then

$$a_n = [\tau(2^{(n-1)/2} + 2^{(n-2)/2})], \quad n > 1,$$

where τ is the m th smallest real number in the set $\{1, 2, 3, \dots\} \cup \{\sqrt{2}, 2\sqrt{2}, 3\sqrt{2}, \dots\}$. The first few values are:

| | | | | | | | | | | | | | |
|--------|---|------------|---|-------------|---|---|-------------|---|-------------|----|----|-------------|-----|
| m | 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8 | 9 | 10 | 11 | 12 | ... |
| τ | 1 | $\sqrt{2}$ | 2 | $2\sqrt{2}$ | 3 | 4 | $3\sqrt{2}$ | 5 | $4\sqrt{2}$ | 6 | 7 | $5\sqrt{2}$ | ... |

The fact that for $m = 1$, $a_{2n+1} - 2a_{2n-1}$ is the n th digit in the binary expansion of $\sqrt{2}$ is now immediate (as is the fact $a_{2n+1} - a_{2n} = 2^{n-1}$).

It would be interesting to know if similar results hold for sequences defined by

$$a_{n+1} = [\sqrt{3a_n(a_n + 1)}], \quad a_{n+1} = [\sqrt[3]{2a_n(a_n + 1)(a_n + 2)}], \text{ etc.}$$

References

1. I. Niven, Diophantine Approximations, Wiley, New York, 1963.
2. F. K. Hwang and S. Lin, An Analysis of Ford and Johnson's Sorting Algorithm, to appear in Proc. 3rd Annual Princeton Conference on Information Sciences and Systems.

GENERAL SUBTRACTION

JAMES W. PETTICREW, Indiana State University

There seems to be a reluctance in abstract algebra to consider partial operations, although in elementary mathematics, subtraction and division in the natural numbers are considered very early. It is true that some recent work in universal algebra has been extended to include partial operations, for example, see Pierce [1]. However, very few examples of algebraic systems with partial operations are given. A set equipped with subtraction is an elementary example of such a system and is understandable to students in a first course in abstract